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< Mathematics, in general, is fundamentally the science of
self-evident things. — FELIX KLEIN <

2.1 weailas

wsel 140 »uudl vl ol 3 % £ As-ois A end BRA S, AL [ e,
i wlfRds qa A dd £ ad sala 9. @i, As-is 5 ooid Ul
SIS uRl A ¢l 2al vel [@Q8d Gl 9 A 2l 2uudl duedl wlaladuxl
2l « 530 wglad. WRel 1140 208l vewiy 53 ol 3 Busialidla (@8l
dAMel W2al i (AUl vis-2is ugl Azl A Ald w9l Al dul 2uyl
dudl ulafafad 2l Al 20 usenl 2uusl BslBda QA
wedl il [k ur ddql ulal@fdl asy od d JAd o @igu yslel
AV gl dudl puddl dudl adeyst 2ddise s3el dgurid el = s
seals wialis ol wel ual s3g. ARYABHATTA

Biiafidly uRREAy, saduzdl ol Mol ood ), s 300 (CGEAT0-CESS0)
ddl Heedl aouetl Asléd rvAlRd wa 9.0 BsiaMdly wllbadl qseudidl Qe i
gl ALIHL uRL GUUdL ALY 6.
2.2 vl AseuHl

el 1130 2048l «{13 wHdl cviiBd BisBidla @R sean sl -

sine [A8d Q»t%lcld\ sin : R = [-1, 1].
cosine [A8d %{%l(LcL\ cos : R —> [-1, 1].

tangent (@84  Ald fan :R—{x :x=Qu+ DNE, n e Z} > R.

cotangent (384 Q»t%ﬂd\ cot :R—-{x:x=nn,n € 7} > R.

secant (484 §uld, sec :R—-{x:x=2n+1HE, neZ} >R-(-1,1).

cosecant (484 Q»t%ﬂd\ cosec :R—{x:x=nm,ne Z} > R-(-1,1).
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UL UsWL 1 1L 20w allvil 2l 5 ol [ABU £ X — Y M2 f(x) = p s A Al
G, dl s A HeL 25 [@QBY g 0 Y = X, g(y) = x vAlld 53 wsid vl x € X A
y=f(x),y €Y. 2§l gl uel = fel [k v g Al [@dik = £+l uea. [@8d g 3 fo
wlalBy seai 24 dd 1 a3 sala, qaol, g uaL 2s-3is A And 9 A g ulaf@bu f
8. 2w, gl =@ hyl=r

adll, (Fof) () = (@) =) = x

i (fof () =0 =fx) = .

sin (84 B9 crdlds dvaiiidl owl i [Brediz -1, 1] 9. %l $8d Y U4l Hulel

Ygl Hulled wga [—3 %] advl, dl d dsds wA [, 174 Ald o, WIAUR dl
sine 894 wallkd uea ] (%%] (%37] QAU W s-As  wd

[1, 1] Ml cdid o, z»uaﬁ, §UBL VL UAS ddAA M2 sine [@QHUAl vl rvaRd

53 Asl.

3

il U8l sine QAL WARAUA sin ! (aresine [A84 ) d3d a3 saidlal, M, sin! [Q8U-L

weol [-1, 1] A [RBRdR [ 3;:,—%], [—i EJ, i% 3”J QR UG S usl vidld €IS b,

MoUAS AU AU AR sin] QAU B e WA B, -l |- —%ﬂ [zciaoll

-~

et yvd Buaqa] vy s€lg. ousl-ll vidid @R dds ddi sin Il B il wa 9.

uRl ¢d ugledl R sin ! AL Bedut 539, AR dsdl wew [-1, 1] A (AR |- —1,1] a9l

2048 sin !z [-1, 1] = [ = g] SERCIER

ylafadudl cnvar wel s€l sy 5, sin(sinlx) = x, wal -1 < x <1 24
sinYsinx) = x wul =& <x < E_ oflog aceldl, %W y = sin lx dl siny = x.
Ay
(1) 2uugl user 1 uxell el ¢l 5 o0 @8y = £(x) 4 waldfy ass € dl
x = @), wm, sin! [@QB3aAL 2dv Yo [@QBAAL AU x-E A y-vial
sed-oted 530 13l wsi. Al %A (a, b) 2 sin [@BAAL 20du u+ Big lu, dl (b, a)
asl 3w sim ! [Q8AAL 2udv uRd [Blg ol M, ¥ = sin Ty [@RAAL 20udM y = sinx
[QAuAL 2uAVHL -8 2 p-2a-dl ved-oied s3I Hadl wsA y = sinx A
y = sin~lx AL 2ndv vusla 2.131), (i), (ifi) 3l ealdd 9. y = sinlx udu-L 420 @19l
S ddl e (Bud saladl el 9.
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(2) d ealdl as 3 5 @A ulalBadl sudv weu QAU 20duHL y = x wlu
wody 22l wldleier (mirror image) @30 HOU ©. YHIA el YR SRAUML lddl
y = sinx Ay = simlx Al 2udr wRell d A asid 9. (Gugla 2.1(ii))

y =sinx
2usld 2.1 (i)
Y
ST |
3%
|3 +*
2 3
T
T
—m2r-
2R : 2 N /‘$~x
7 m_A0E o 2
-.'_lz
2
-7
3m|.
2
§_51
2
v

y = sinx R y = sinlx

2usld 2.1 (i) 2usld 2.1 (iii)

sin [@8u-l ¥4 cosine Q8L UL AlRA@S AvAL 218 24 [ [-1, 1] 8. A cosine
(821 wBad HullRd oiidl [0, ] A W2 dls A dl d 2is-uis i i oA, 218l [
[-1, 1] ®. WuR dl Hullkd wed [-m, 0], [0, ], [T, 27] ARHL cosine [RAYA is-ls i
[-1, 1] |l i ot 2uel, 2Uusl cosine [@8d-d ulalaBa 2a3idL 516 Ul 2idd Uz epvadd
53 wsla. cosine B URAAA cos!(arc cosine [A84) w3d a¥ caldlal M cos™! QAU
ugdl [—1, 1] 24 (@A [, 0], [0, ], [7T, 27] Ad3HiAl 515 U8l 2idAA €. 2l UAS idAds
2§r3u cos™! (Bl 25 el qadl. [0, T 3w HAdl cos! [@8uHl aud yvy Byaaal

vyl 5619k UL cos™! : [, 1] > [0, 7] 13 avilal,
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% A y = sinlx Al 2uAuil 24l 530 A % Ad y = coslx -l 2uAN X

N
o\ . b .o N N N R
usl eldl st 2usld 2.231) 2 2.2(i)HL y = cosx 2 y = cosIx Ul 2udm 5_%!_
galdd 8. Y mf-
3n
_5n l = ~ 3N 2
2 ! -1 2 n 1 N2 -

=

17
= n
2 11 2 Tl
Y X"(—'—‘l X
y = cosx X

=%
2usld 2.2 (i)

4\

lel, 208l A WHEBL cosec Ix A sec Iy AL [QAR 53 3n

cosecx = 'rlzx slandl, cosec [ABA-L waLoweL ‘22“‘“

(x :x ER2AA x #n, n € Z} 2 [AdR0L /1 5;

{(v:yeR y>12ad y < -1} 2ald R— (-1, 1) 2. Y’

MM, y = cosecx, -1 <y <1 ¢ ddl y Rl s drdlds vl y=cos'x
922 529 A A 7oAl yails ARdl uR il Al A, A cosec [@8UAL wugla 2.2 (i)
uga [—%,—] {0} Hi muilzd 53020 dl d [z R — (=1, 1) M2 215215 244 Al i, WIuR
dl cosec (A8, [ 3;,—%] {—T}, |V z

—] {0}, P 3“] — {m} A3} HUIRA HdRaH]

W55 A Al o, A ddl QIR ARdl@s Avazldl A R — (=1, 1) M. UM, cosec™!

[ABufl Y29 R— (-1, 1) 244 I.?Rcuz[ 3= ] {—m}, [—— —] {0}, [” 3’“}—{n}q5& Q5L
S5 waL vidud d@f asi sl | —7, 5| — {0} [ »iq3u “adl cosec! RAAL wvs
Yy (Fuaqua] vl 519 UM, UL WAL WAL AEMHL cosec !t R — (=1, 1) = ( —% 3] - {0}
w4 quil sl i
SR 2.3(1) A 2.3l y = cosec ¥ »IA -4
y = cosec lx Al AU Gdldd ©. ceeeeaaan L. -
X }i ; . 4 3n
: ! : .
: P &

1

y = cosec " x
Yy = cosecx

2usld 2.3 (i) 2usld 2.3 (i)



34 Sl

aoll, secx = ﬁ daiell y = sec x il 2wl R — {x :x = 2n + DT, n € Z} 24
[aacizoll R — (=1, 1) 8. »usdl 218 sec (secant) @84 -1 <y < 1 Raasdl y «l uds Bud wirel

520 2 A Tel »on dasl e euvdlid el % sec [ARUAL wga [0, T - {%} 4l HuilRd

A9, dl d As-AS wA R — (<1, DU Al oA, wRuR dl sec @A [-7, 0] — {—%}

ﬂl 3?: Ry C . . ~N ~N N .
[0. @] = 13- [m 27] — (5. <l Hulled widAAHL 25215 24 R — (=1, 1)l
itd o, AH, sec”! (@84l wew R — (=1, 1) 24 (@R [-m, 0] - {—%}

[0, ] — {%} [w, 2] — {37”} AL H AR 53 Astd. UAS vidAdA U sec ! [A8UH]
[t suvnL 3ol 2048l [0, ] — {%} [AcRA 2434 Hadl sec! [@8a-l v yvy Buaqal
Wy s€lel. UM,

sec! i R— (-1, 1) > [0, T] - {%}

25l 2.4(1) e 2.431)HL y = sec x @y = sec lx Al AV oidldd €9,

X’ L X
=, |o -
2:-1% 2.\ 28 00000 2_ _1 ____________
' -
: D) \2 [
' —T
: ) 4
[] . (] Y'
o y =seclx
y =secx
2usld 2.4 (i) 2usla 2.4 (i)

i 28 fan ! A cor ! AL (R s30g,
a8l sellal Gl 5 fan Q8 (fangent [Q8A)AL w201l

c

ld_fan (80 AL 21394

x:xeRu®lx#2n+ DL, ne Z »i [RAR R 8. >Hald, 5
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ARl W2 ArAd gl % ud fan RAAAAL UBA U Hulel Yl dA

-

525 A RHL @Al ot 8. wvR dl, fan (A8 [—37”,—%], [—% %],
\ l \ i

Y

S uel HUIRA ddladl As-vis A R UL Al o, U, fan A ¥l e R ot [QdiR

f 4 4 [ it
[—37"",—§), (—%%}, [%37“) AR USAL SIS uRl vidud € val @R 4y rid s3l

N N\ o\

b

Y,
As. i vidAd 243U far ! [@QAAAL Bt uvipll A, (—

SYE]

x
2

(R 434 Hadl

tan~! [QAA-l wvud vy Byaaal wvy sl asid. »UM,
-1 _m oz
fan—' : R — ( ) ,I

y=tan x 2y = fan 'y AL 2@ usla 2.5(1) 2 2.5(0)H1 salda 8,

y= tan~! x
y =tanx

2usld 2.5 (i) 2usld 2.5 (ii)

28l el a5 cor @8 (cotangent [A84)l W2al {x : x € R 21 x # nw, n € Z}

-

dal [z R 9. »ald cotangent (@84 T <L yauls idl 2 senvdilud 8. o
cotangent [A8u- ¥llBd w2y (0, ) adyl, dl d 2525 24 RHL At o O, wuR
cotangent B84 HUlRd lda (—m, 0), (0, 1), (m, 27) AL 1535 24 R Ui @ oA,
2§1M, cor I %l W2l R 24 @iz (=7, 0), (0, 1), (7, 27) A3 USlHL 515 ULl vidAd €14 2idl
Q82 dls cwrvafad s3 asi. (0, T) (B 2443w Hadl cor! [@Q8U-]L i vy Braqal
Wil €L ASA., UM,

cot': R = (0, m)
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y =cot x U y = cotr lx L 2uAu sl 2.6(i) A 2.6(ii)4l saldd B,

Pe
N
B T S I T T

y= cot 1 x
y = cotx

2usld 2.6 (i) 2usld 2.6 (ii)

2 wuda sies Busiamdly wlalAda (e Budawil i) dudl ued s @ik al

galdd & :

.1 . =
Sin : [-1, 1] —> [ > 2]
cos™! I Y — [0, ]
cosec! . R-(11 — [—%,%] — {0}
sec™! . R-(-1,1) —» [o0,7]- {%}
—1 . =
tan : R —> ( > 2)
cot™! : R — (0, m)

1

. iR
Sin x

sinlx 2 (sinx)! doltl oAUy Al udl S, ¢slsd, (sinx) ! =

2l ded ousll Bustafdle [@R8dL we wel a6,

pur wal Bsefidly ulaladasdl sl vl Gedut dl o s3d €l AR el d
(Q8ul 3o Badawell el o a4,

BswmBidly wlaldfad yer you Budaol et [@BRARHE ¢, dl dd 2uusl

d BisBdla wlfafbadl gy Bua sdlsl.
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gd, UL s2dls Gelgwldl (G s3g.
_ 1 N
Bel@ 1 : sin! (ﬁ)vﬂ yoy [Sxd Hadl.

L

37

N . 1 . A bY N . I s
Bie R S, sin ! [ﬁ) =y. 2l siny = 5. 2uusl sl gl 5, sin! [Q8U-{l 3oy rdal
ks

vl [Erd1z [—%%] ® 2 sinf = 75
1 . N
sin™! (f)'ﬂ wo Bud 0.
,1\
Bewsam 2 : cor! (fl-ﬂ woy [Exd Hadl,
A
B4 : WA 5, cor! (_—1] = 219, coty = — = —cot E] = cot[’ﬂ_ﬂ]
) \/gx Y- ) y NE) 3] . 3)
o
cot[ 3 )

2uRl ARllA 1A 5, cor ! [l o Badawoll vl (@ (0, T) © 2t cot%" =

&

-1 (_1} ; 21 &
2ul, cof \ﬁ)-{l oy [F3d = 0.

ALY 2.1

-~

<l wlalada we d-dl qea Gud el

1. sin_l(%l) 2. cos” [g) 3. cosec’\(2)
4. tan’! (—\/5) 5. cos! (_71 6. tan! (-1
7. sec’| (%) 8. cor! (\3) 9. cos! [_T;)

10. cosec™! (—\/5)

(Al tldealsapid yer wadl :

11. tan (1) + cos™! (—%) + sin] [_%)

1 {1 1 l}
12. cos (2} + 2sin [2
wall 13 dal 14 | (@ 0 o d 2d sula [@sedisiel dou [@say wis s
13. % sinlx =y Sy, dl

A) 0<y<m B) -Z <y<

ST

(C) 0<y<m (D) —%<y<%

0
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14. tan ' 3 — sec1(-2) 4 H& .......... £9,

(A) m B) -2 © % (D) 2%
2.3 BisafAdla wlafaddi-u syl

2 [eual uud Bsabidle ulafaBaie Seas sl oMl ubid s3g. 21€l, s
e Al s3T5 2 el BsmBmdle wllid dan wod Hea Buadawll e wR
AARd gl AR A 9. sedis uRoudl Bisfidly wlalafdidr weadlh dwm 3l we
A <l uRl Sl doid, x -l ¥ Hedl W2 Bsefdla ullkby cvalid ¢l ddr we o
d U ol 2R UBAAL x Al 2ial Hedldl [gd 2al ¢l s, 5180 3 d e yadsHl wale
IR 6.

qe 5 5 oA y = sinIx dl, x = siny wA ol x = siny dl y = sin~1x. UM,

sin (sin"Ix) = x, x € [-1, 1] ¥ sinI(sinx) = x, x € ]—1 |-

’

-~

ed, el BsiaEdla

G A

2
>l % dld ousldl wia Busiemdla w@lkBa we uel ud
wlfaBdi 3eals opmul Albid st

1. (i) sin1+ coseclx,x>1 294 x < -1

x

(ii) cos‘li = seclx, x>1 294 x< -1
1L _ -1

(iii) tan L - corx, x>0

wa uReuy ubid 5241, 8L coseclx =y Mald, cosecy = x dS.
i =siny (x #0)
P I
el, sin < =

YL sinfli = cosec lx.

L% WML, olLsll oL Allid 53 AL

2. (i) sinlV(~) = —sinlx, x € [-1, 1]
(ii) tan () = —tan'x, x € R
(iii) cosec™! (=x) = —cosec™! x, x| =1

QR $ sim () =y Q&%L(Ld\ —Xx = siny
. ¢ .

28l, x = —sin y 2ld x = sin (-)

219, sin ' x = -y = —sin”! (=)

w9l sin~! (—x) = —sin x

L% WML, olLslAl oL AllBid 53 AL
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3. (i) cos'(~) = mw-cos'x, x € [-1, 1]
(ii) sec!'(=x) = m—sec'x, |x|=1
(iii) cor! (—x) = w—-cotlx, x € R

QA 5 cos I(—x) =y %t%lick —X = cosy

21l x = —cos y = cos (T — y)

MH, cos Tx =T —y =T — cos™! (—x)
cos™! (=x) = T — cosx

L% WML, olLslHl oL AL 531 AL

4. (1) sin~'x + cos™! x , X € [-1, 1]

Il
ME

(ii) fan'x + cotrlx

Il
SE|

(iii) cosec'x + seclx = %, x| =1

QR % sinlx =y, 208l, x = siny = cos %— y)

1 1

cos " x = X

N

—yZ%—sin_

209, cosVx + sinlx =

Y]

L% WML, olLslL oL AL 53 AL

x+y
xy’ xy <1

Il
~
<
S

5. (i) tan'x + tan'y

X -

1
Y 1+ Xxy

I
)
S

(ii) ftan'x — tan™ , xy > -1

WA 5 tan'x = 0 24 tanly = ¢
2191, x = rand e y= tand)

tan +tano xX+y
— tan®-tan¢p ~ 1—xy

gd, tan(® + ¢) = "

X+Yy
1—

22l, 2R 0 + ¢ = tan! SERE

X+Yy
1—Xxy
Guarl URBUMHL, %l Ul p A —p dadul dl, ollg uRBuM MO 2y AL oled x A9, dl

14, tan~x + tan_ly = tan™!

ol wRaEL Wsld Hlly uReuwn .
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. . 2x

6. (i) 2tan'x = sin™! >

1+

.o _1 _1 l_ x

(ii) 2tan'x = cos =
1+x
2x

(iii) 2tan'x = tan™! 7
1-x

WA 5 fanx =y, 208l x = tany

5 — sin

= sin~(sin 2y)

= Dtanx

dal cos’]

=C

| 2tany
1+ tanzy

2 2
1—x 1—tan
osfl —y

1+ x 1 + tan*y
= cos N(cos 2y)

= 2tan 'x
(i) 2L o 2Ad, Wlbd 30 wasy

BUURL ¢ Sedis BeleWUl A,

Belg2mL 3 ¢ b 52U 35,

(i) sin ! (2xy1- x? ) = 2sin Ix,

(i) sin! (2x4/1 - 2 ) = 2cos x,

B4 : (1) WA 3, sin'x = 0. 208l x = sind

x| <1

x=0

-1<x<1
1
V2
1
N

wd, sin! 2xy/1-x%) =sin! (2sinO 1 - sin’@)

= sin! (25in0 cos0)
=sin! (sin 20)

=20

= 2sin ! x

IA
=
IA

IA
— §|_

=
IA

Sl

(ii) x = cosO dl. Buz WAl Ad U0 qudi, 2R sin ! (2x 41— x> ) = 2cos! x 14,

Belsul 4 ¢ wlid s 5, fan! % + tan_lﬁ = tan
Bsa : o 5(i) urdl,
— -1 L 12
L. = fan > + tan 11
1,2
_+_
- gyl 2700 115
= lan 1.2 tan 20
2711
_ -1 3
= flan 4

%.6ll.

13

4
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CcCOoS X
tan | ———— |, = <x < =
Bel8R0L 5 : fan! M <y < Eof g 3u 2l
1—sinx 2 29

il 2 x 2 x
N } [ cosx B 3 cos™ 5 — sin 5
Bsa ¢ 2l ran —J = tan T > — -
1—sinx | cos™ 5 + sin 5 - 28in5 - cosx
xyf X
[cos—+ sin 7] lcos - sm7
= tan™! 2
cos—— sin i]
4 2 ol
|-cosx L osinx
_ 1 p) P
= tan | %
| cos5 - sins

1+tan=
= tan™! ‘7—2
= tan~ [

" cos x 2
oiloy d : tan’! —-): tan”! —————~
1—sinx ) Ll—cosb‘ij
|- . fm—2x)
sm[ - |
P | ‘ .
= tan T 2x!
L1 cos |— ]
|_ -2x T—2x|
2sm[ y) cos 7) '
= tan’! - - .
Lo fm—2x)
2sin '
I &)
T-2X
= ftan 1 |Vcot )]
i 4 !
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,x > 1 el a3uHl saldl.

GelsmwL 6 : cor!
x -1

G54 : A&, x = secO, dl \/xz_l = \/seczﬁ—l = tanB

218, cor! = cot \(cot B) = B = seclx. Hidla Ag WU .

x -1

3
~ - 2X 3x —Xx
Gewsael 7 ¢ wbid 52 3, anlx + ot T 5 = tan! (_2 ] x| <
X L1=3x7 )

o

Bia : WA 3, x = rand. 204, O = ranlx.

! 3x — x3
tan—
1-3x°
- |’ 3tané — tan38\
L 1-3tan’® J

ed, %0l

= tan

= tan™! (tan 30)
30

3tan\x

tan~' x + 2tan'x

2x

= tanVx + tan™! o = sl (51 7)

BELS28L 8 : cos (sec!x + cosecx), |x| = 1+l (Bud allMl.

Bia : i, cos (seclx + cosecIx) = cos (%} =0

ALY 2.2

A $3U

1. 3sin'x =sin! 3x — 4x3), x € ’_—% ]

1
> 2
2. 3cos'x =cos! (43 — 3x), x € [%, 1]

3. tan! 2 4 tan™! L = tan™! %

11 24
-1 L1 11X _ 131
4. 2tan > + tan o tan 17

Al (@8 ALel [@IUML Qull ¢

/ 2
+ i
5. tan! # x#0

>
X
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1
6. tan]\/T [x|>1
l—cosx
7. cosx O0<x<m
] cosx—sznx
8. cos X + sin x 0<x<m
9. tan! ——, x| <a
a 3

a —x
10. tan™! M a>0'_—a<x<i
. a3 —3ax2 ’ ’ \B \/§
[(Bud Al :
1141
11. tan™! 2cos(2sm 'J
. /

12. cot (tan'a + cot'a)

2

_ 11—

13. tan%'rsinl 2x2 + cos l—y‘l x| <1,y>0 2 xy < 1.
i I+ X 1+y

14. o sin [sirfl% + COS*IX) =1, dl x «l Bxd AL

x—1 x+1

L oz
—, Ttan ST

N

—1
15. %\ tan .

, ol x ~il [Bud sl

u-s54ls 164l 18 «l ulMulsa-l BEud el :

16. sin! SinzTI) 17. tan™! tan%r)
(.13 ~13)
18. tan[hsm = + cot 2}

wall 19 el 21 4l [ e o d dAd 20ta [Qsedinia] Aoy [Gsay wie s e

1 oo I} —
19. cos [COS 6) = .

(a) IZ (B) 2 (€ % (D) £
20. sin g—sml(—a)) = e
(A) 3 (B) 3 (©) & (D) 1

21. tan '3 — cor’! (—\/5) = .

(A) T (B) —Z (C) 0 (D) 23

43
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uflel Gelgw

Bew@ 9 @ sin! (sin—)-i SENEIN
Bie : 2wl el ¢t 5, sin(sinx) = x.

b
wuell, sin! (sin%n) = 3 iy dell wdan wvll asia,

uig, sinlxdl you Buaawll ana ( —%%] ui 2 el

S (3my _ (o _2m) _ o.oom N 2m .0
sm(s)smﬂ 5)—Sm v 6[2,2]

5 5
29l sin! sin%"’) = sinl[sin%") = Z_SH

Belgawl 10 : Al 53 3 sin 12 — sin 1S = cos 132
5 17 85
Bie @ R 3 sin_I% — x WA sin 1S = y
I R PN
well, sinx = < ¥ siny = 15
é,?{, cos X = l—sinzx =
A cosv = .| 2 — [fj_64 _ 15
A, COSy 1_ sin”y 1 289 17

¢d, cos(x — )

cosx -cosy+ sinx - siny

_ 4 15 3 8 _ 84
S3 X TS X T %
184
X -y =cos g3
13 .18 _ 184
18l, sin s —sinly5 = cosT ¢z
Geld2ml 11 : Add $A 5 sin ! % + cos*'% + tarf'% = TI.
2y s 3 L el 12 = 14 _ ~163 _
Bsd : R 5 sin 3~ X cos 5 =y, lan e =z
Lo 12 _ 4 _ 63
219, sinx = 5 Cosy =%, lanz = 12

e =12 53 -3
cosx = 73, siny 5,tcmx 3 v fan y 4
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tan x +tan 'y
l—tan x-tan 'y

¢d, fan(x +y) =

12,3

T S %
_12 .3 16
1 T

29l ran(x +y) = ~tanz
C
Ald fan(x + y) = tan (—z) A™dL
tan(x +y) = tan (T — z)
X+ty=-—=z Y4 x +y =T —z
X, y ¥ z 4 dlaEl, x + y £ 2
il x +y +z =T Al

112
13

14
5

—163

+ tan 16

Sin + cos™

GelseL 12 : fan! r”’COSX—bsme.

 Ag Fu Al ol Sranx > -1

‘ -
| bcosx+asinx

[ acosx bsinx
Tacosx bsinx] b cos x

\ - - -
\bcosx+asinx tan

Yo o o] po]
Bsa = 2l tan bcosx +asinx

b cos x J
[ a
=1
b an x ]

=tan | T | = tan L tan~\(tan x)
1+ n tanx b

Geleanl 13 : G3dl : tan ' 2x + tan 1 3x = %

Bsa : 2, ran ! 2x + tan ! 3x

[ 2x+3x )
lan 1-2x%3x)

4

Il
I

N

6x2+5x — 1 =0 2ald (6x— D) +1)=0

well, x = ¢ Adl x = 1.
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x = -1 ysdl, Slolld v Rl viag sl d udlsed s su Al el

% Aud uHlsWAL Bid €.

)C:l
6

ulel @y 2

(1Al ulafaBudi qeu bl :

137  In
1. cos‘l[COST 2. tan! [tan?)
& PJ
AL A
13—, 124
3. 2sin s~ lan S
-1 8 13— 117
4. sin 17 + sin 5 tan 36
-1 4 112 _ 133
5. cos 5 + cos 13— CoS o5
-1 12 13— 1 36
6. cos 13 + sin 5 T ST s
163 _ 13 -13
7. tan 6 SN 13 + cos 5
-1 1 -1 L -1 1 -1l _ 7
8. tan 5+tan 7+tan 3+tan 3 7
AL 2
1—x
9. tan! x = % cos™! {m], x € [0, 1]
1+ sinx ++/1—sinx ( n
10. cor! \/ - \/ - = %, x € [O,Z
_\/1+smx —\/l—smx
w/1+x—«/1—x N
11. tan™! =I_ % coslx, ——L <x <1 [AA : x = cos20 dl.]
Jl+x+41—x 4 J2
o 9 o1l _9 122
12. g 4 S 3 7 sin 3
Al udlse Bdl :
13. 2tan ! (cos x) = tan™! (2cosec x)
g il=x 1.
14. tan™ T = Ftan x (x>0)

well 15 ol 17 i [ A3 o d Ad 2ide [sensial don [Asew ue s e

15. sin (fan'x), |x| <1 = ...

- 1 | _x
(A) T (B) = ©) == D) T2



Bisia@dla w8

16. sin (1 — x) — 2sin"'x = %, dl

1 1
(A) 0, 5 (B) 1, 3
|'( B X — y
X 1 _
17. tan yJ — tan Xty
T T
(A) > (B) 3

~

X = i

ARAA

&=
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o Busafidla uff@iudr uza 24 Rar (e Budawol wen) A4 stesii salda 9

EED} ueel (2R
(qea [Buaawil wvw)
y = sin”lx [-1, 1] [—%,%.‘
y = cos\x [-1, 1] [0, 7]
y = cosec \x R-(-1,1) [—%,%-‘ — {0}
y = seclx R- (L 1) 0. 7] - {%]
_ —1 _rn
y = lan 'x R ( ok 2’
y = cot lx R (0, )

o sinlxq o@dl (sinx)! dAd Al A, R (sinx)!

BGstadla wal@ar we a9,

N

o Buistafidly wlaldfad Hew you el €, dl
sdaly,

oYY -l Hedl MR,

1
sin x

A VL ¥ dld GUslAL

ad d Bsweldly wlalabadl yuy Baq

¢ y=sin_1x = x =siny ¢ x=siny :>y=sin_1x

*  sin(sinlx) =x ¢ sin! (sinx) =x

+  sin’! i = cosec ! x ¢ cosl(x)=7 — coslx
¢ cos' L =seclx ¢ corl(x)=m — cor'lx

x
¢ tan! i
X

= cor 1 x ¢ secl(x)=7 — seclx



48

ST ERS)

* sin'(x)=—sinx ¢ tan' (—x) = —tan ' x
* tanlx + corlx = % ¢+  cosec! (—x) = —cosec ! x
* sinlx+costx= % ¢ coseclx + seclx = %
X+ 2x
* tanlx + tan_ly = tan”! X * 2an ' x = tan™! )
1—=xy 1—x
x_
¢ tanlx —tan 'y = tan™! Y
1+ Xxy
2
. 2x 1 1=-x
¢ 2tan ' x = sin’! > = CoS 1 5
1+x 14+ x

Historical Note

The study of trigonometry was first started in India. The ancient Indian Mathematicians,
Aryabhatta (C.E. 476), Brahmagupta (C.E. 598), Bhaskara I (C.E. 600) and
Bhaskara II (C.E. 1114) got important results of trigonometry. All this knowledge went from
India to Arabia and then from there to Europe. The Greeks had also started the study of
trigonometry but their approach was so clumsy that when the Indian approach became known,
it was immediately adopted throughout the world.

In India, the predecessor of the modern trigonometric functions, known as the sine of an
angle, and the introduction of the sine function represents one of the main contribution of
the siddhantas (Sanskrit astronomical works) to mathematics.

Bhaskara I (about C.E. 600) gave formulae to find the values of sine functions for angles
more than 90°. A sixteenth century Malayalam work Yuktibhasa contains a proof for the
expansion of sin (A + B). Exact expression for sines or cosines of 18°, 36°, 54°, 72°, etc.,
were given by Bhaskara II.

The symbols sinlx, cos™x, etc., for arc sinx, arccosx, etc., were suggested by the
astronomer Sir John FW. Hersehel (C.E. 1813) The name of Thales (about B.C.E. 600) is
invariably associated with height and distance problems. He is credited with the
determination of the height of a great pyramid in Egypt by measuring shadows of the
pyramid and an auxiliary staff (or gnomon) of known height, and comparing the ratios :

B tan (sun’s altitude)

S s

Thales is also said to have calculated the distance of a ship at sea through the proportionality
of sides of similar triangles. Problems on height and distance using the similarity property are

also found in ancient Indian works.
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